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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

1 1626 23.5 6.9 40 58.7 40.4

GCE English Language and Literature 1161-01

Question

0 10 20 30 40 50 60 70 80 90 100
Facility Factor %



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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LL1 — Summer 2015
Unit-specific Guidance
In this Unit candidates are required to answer two questions, one from Section A and one from
Section B. All questions carry 40 marks.
A total of 80 marks is the maximum possible for this unit.
Relevant assessment objectives for LL1 as a whole:

AO1 Select and apply relevant concepts and approaches from integrated linguistic
and literary study, using appropriate terminology and accurate, coherent written
expression;

AO2 Demonstrate detailed critical understanding in analysing the ways in which
structure, form and language shape meanings in a range of spoken and written

texts;

AO3 Use integrated approaches to explore relationships between texts, analysing and
evaluating the significance of contextual factors in their production and reception.

The table below shows the weighting of the assessment objectives in each section:

LL1 % AO1% AO2% AO3%
SECTION A 30 (15) 12 (6) 6 (3) 12 (6)
SECTION B 30 (15) 12 (6) 6 (3) 12 (6)

TOTAL 60 (30) 24 (12) 12 (6) 24 (12)

© WJEC CBAC Ltd.





SECTION A: Poetry pre-1900 and unseen text
(40 marks)
The ratio of the three AOs for Section A in terms of weighting is:

AO1: 2 AO2: 1 AQO3: 2

(16 marks) (8 marks) (16 marks)

Notes

We may expect candidates to select some of the following approaches to the question. It is also
possible that candidates may select entirely different approaches. Candidates are required to
consider the attitudes conveyed by literary and linguistic approaches, not just to note the
features. They are asked for their views: look for intelligent and interesting discussion, but be
tolerant, and credit any valid points that emerge from their analysis of the actual language.

Q.2 Text Cand Text D
Possible Approaches

Overview: The texts are connected in their purpose to give advice to others to seize the
day. Herrick’s poem is written in the ‘Carpe Diem’ tradition, urging young women to seize
the day and enjoy their sexuality in their prime. It is similar to Andrew Marvell’s ‘To His
Coy Mistress’ and candidates may well note this. The problem is outlined and advice
offered by the narrative voice. Similarly, Jobs’ speech, given to students in Stanford
University in the USA, is a plea for them to make the most of each day and follow their
own instincts. Based on his own life-changing diagnosis of cancer, Jobs speaks with
passion and experience in this personal and perhaps at times shocking speech. Both
use death and its inevitability as a way of motivating their respective listeners to make
the most of the time they have left. A point of comparison is found in Herrick’'s somewhat
didactic suggestion that the virgins to whom the poem is addressed should ‘go marry’,
whilst Jobs’ advice is less specific and recommends that the students should not be
trapped by ‘other people’s thinking’ and should instead ‘follow [their] heart[s]. Another
interesting point of comparison might be the seriousness with which both authors
address the topic at hand. Cavalier poets like Robert Herrick accept the ideal of the
Renaissance Gentleman who is at once lover, soldier, wit, man of affairs, musician, and
poet, but abandon the notion of his being also a pattern of Christian chivalry. For them
life is far too enjoyable for much of it to be spent sweating over verses in a study. The
poems must be written in the intervals of living, and are celebratory of things that are
much livelier than mere philosophy or art. The Mistress is no longer an impossibly
chaste Goddess to be wooed with sighs, but a woman who may be spoken to in a
forthright fashion. Cavalier poets believed that poetry need not be a matter of earnest
emotion or public concern, but light-hearted fun. Candidates might consider that his
message, that young virgins should get married, is something with his position as a
Christian cleric. Clearly for Jobs this is a far more serious matter, given that the advice
he gives is borne from his own traumatic experiences.

© WJEC CBAC Ltd.





Form and structure

Text C:

Text D:

Simple lyric poem

Epigrammatic style, terse yet elegant

Regular abab rhyme scheme reveals logically developed argument

Even rhythm, alternating iambic tetrameter creates a balanced, yet persuasive tone
Trochaic foot on opening imperative

Four quatrains to develop argument

enjambment used to develop points

Direct address of the archaic ‘ye’

Caesura

First person used as this is a personal speech, ‘About a year ago | was diagnosed
with cancer’

Anecdote about own life-changing experience is given in the middle of the speech,
Second person address delivers emotive advice, ‘Your time is limited’

Grammar
Text C:

Text D:

Lexis

Sentence mood, imperative ‘Gather’, declarative ‘The age is best’

Complex sentence structure used to develop logical argument

Fronted conjunctions ‘And’, ‘But’ offer alternative viewpoint to strengthen argument
Juxtaposition of life and death ‘smiles today,/To-morrow will be dying’

End focus ‘the Sun’

Largely declarative mood as Jobs recounts his own experiences ‘When | was 17...",
Imperative mood in final paragraph of script gives advice, ‘Don’t be trapped...’, ‘Don’t
let the noise...’

simple sentence to conclude with impact, ‘Everything else is secondary.’

Parallel syntax for rhetorical impact, ‘Remembering that... Remembering that...” and
‘It means... It means...’

Text C:

© WJEC CBAC Ltd.

Archaic verbs for rhythm ‘a-flying’, ‘a-getting’
Comparative adverbs ‘higher’, ‘sooner’, ‘nearer’
Superlatives ‘best’, first’, ‘worst’

Allusions to future time through modals ‘will’, ‘may’
Archaic pronoun ‘ye’

Hyperbole ‘for ever tarry’





Text D:
e Adverbials of time, ‘When | was 17°, ‘About a year ago’,
e use of first person pronouns, ‘I’, ‘me’,
¢ lexical set of nouns relating to self-improvement and awareness, ‘tool’, ‘expectations’,
‘inner voice’,
¢ premodified noun phrase ‘other people’s thinking’ used critically,
e capitalised noun ‘Life’ juxtaposed with ‘Death’

Imagery
Text C:
e Loaded with imagery e.g. metaphors of rosebuds to represent female sexuality and
dying flowers to suggest time passing
e Personification of the Sun and Time conspiring against the virgins
e Imagery of day and night used as metaphor for the ageing process
o Metaphor describing the sun ‘glorious lamp’

Text D:
e Clichéd metaphorical collocation ‘follow your heart’
¢ Metaphor, ‘You are already naked’

Phonology and orthography

Text C:
¢ Mono-syllabic words creates sense of simplicity of ideas
e Aspirants ‘higher he’s a-getting’
¢ Alliteration ‘race be run’, Plosives ‘but once your prime’

Text D:

¢ Plosives ‘Don’t be trapped by dogma’ suggest urgency and make Jobs’ advice more
memorable

© WJEC CBAC Ltd.





AS ENGLISH LANGUAGE & LITERATURE

LL1 Sections A and B Assessment Grid

AO1 AO2 AO3
Select and apply relevant concepts and Demonstrate detailed critical Use integrated approaches to explore
approaches from integrated linguistic and understanding in analysing the ways in relationships between texts, analysing
literary study, using appropriate terminology | which structure, form and language and evaluating the significance of
and accurate, coherent written expression. shape meanings in a range of spoken contextual factors in their production
and written texts. and reception.
Band Marks Weighting: 16 marks Weighting: 8 marks Weighting: 16 marks
Limited evidence of integrated study. Minimal Limited awareness of how some of the Describes wider context(s) in which texts
application of concepts and approaches. Written | most obvious choices in form, structure and | are produced. Limited sense of genre,

1 0-10 expression often has lapses in accuracy and vocabulary create basic meaning in texts, purpose and audience. Limited evidence of
clarity. Basic terminology often misunderstood though stronger towards the top of the understanding relationships between texts,
and misapplied, and poor structure to response. | band. particularly towards the bottom of the band.
Some basic evidence of integrated study. Some awareness of some key language Reasonable observations of some key
Beginning to apply key concepts and features. Analysis mainly at word level, contextual factors. Selection and
approaches. Some use of key terminology, but tending to be descriptive towards bottom of | discussion of some of the more obvious
sketchy or descriptive at the bottom of the band. | band. and relevant points of comparison and

2 11-20 Generally accurate expression, but with lapses, | Engages with basic meaning of texts on a contrast. Attempts to use integrated
particularly towards bottom of band. straightforward level, more focused towards | approaches, more successfully towards top
Straightforward vocabulary and sentence top of band. of band.
structure. Attempts to organise response,
particularly towards top of band.

Clear evidence of integrated study, more More sustained focus on language use to Sensible and clear discussion of some key
marked towards top of band. create meaning, including some convincing | similarities and differences between texts.
Sound use of appropriate terminology. phrase and straightforward sentence level Developing and increasingly convincing

3 21-30 Relevant and purposeful application of some analysis. Clear grasp of meaning, with overview.
relevant key concepts and approaches. increasingly detailed appreciation of Clear evidence of integrated approaches,
Generally accurate, coherent expression, and writers'/speakers' techniques. Developing with appropriate textual support, most
sensibly organised. eye for detail, most apparent at top of band. | appropriate towards top of band.
Thorough knowledge, understanding and Perceptive awareness of how choices of Confident awareness and discussion of
insights gained from integrated study. Confident | form, structure and language affect relationships between texts, making
application of concepts and approaches. readers. Sound analysis and increasingly specific and productive connections.

4 31-40 Accurate and sensitive use of terminology. confident evaluation of writers'/speakers’ Sound, increasingly confident appreciation
Written expression confident and fluent. Well- techniques. Clear and sustained focus on of contextual factors and their significance.
organised material. HOW language is used to create different

impacts.
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Sticky Note

Some errors in identification of poetic form and under-developed analysis



Sticky Note

Basic meaning understood: some simplification of purpose and audience



Sticky Note

Basic observations of similarities and differences



Sticky Note

Observations here are basic. Expression is accurate.



Sticky Note

Some errors in identification and lapses in expression.
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Sticky Note

Misidentification of word classes



Sticky Note

Some reasonable observation of similarities.



Sticky Note

Obviously, the candidate has researched and learnt some contextual information and an attempt is made to make it relevant here, but it is very broad and needs further development.



Sticky Note

Candidates should avoid 'spotting' sentence types with no evidence and no meaningful analysis.



Sticky Note

Technical errors: problems with apostrophe.



Sticky Note

Problems with analysis here - lacks coherence.
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Sticky Note

Some problems here with the use of context. This candidate would've been better served if they had instead focused on close textual analysis..



Sticky Note

Some very basic inferences here



Sticky Note

Lapses in expression: lack of clarity does impact upon meaning here.



Sticky Note

Errors in identifying basic word classes.



Sticky Note

Correct use of term



Sticky Note

Vague analysis
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Sticky Note

An adequate enough overview of the poem's general structure but its inclusion here is disorganised: it would be better to put this sort of overview at the beginning of the analysis, if at all.



Sticky Note

Some valid, straightforward analysis here.
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Sticky Note

Lapses in expression



Sticky Note

AO1 - Basic evidence of integrated study. Some basic use of key terminology (personification and pronouns) but tended to be sketchy ('sentence' and 'term' used) and descriptive in places. Some basic errors in the identification of word classes. Generally accurate expression but some significant lapses throughout. Mid Band 2.



Sticky Note

AO2 - Engages with basic meaning of texts on a straightforward level. Understood the overall message of both texts - the idea of seizing the day and 'encouraging others'. Offered a broad awareness of some language features but analysis was mainly at word level and was not always successful. The response lacked the detail and focus needed to go higher in Band 2. Mid Band 2.



Sticky Note

AO3 - Selects some of the more obvious and relevant points of comparison. Certainly, this candidate was clearly aware of the need to compare and contrast the two texts and did attempt to do this throughout. Reasonable selection of contextual factors, such as Herrick's personal losses, though struggled to do anything more than just outlining this. Upper Band 2.



Sticky Note

This response was awarded a mark of 17 out of 20, reflecting its slightly higher banding in AO3 and the weighting of the Assessment Objectives.










Write the two digit question
number inside the boxes next Answer
to the first line of your answer

—

-

=y

Gosrer Yo coneouag. .

apecence - ige?
e = SWW& Ve Badinroponnd e Dnitoa

. % PRS Some f0we,  Hhax ired todows

Drarcow Wik e Suhingy  inwersioa

jorropotes Pre*;ﬂut (Puernre

"ﬂeuemwenr%-h-nx U oo dedd §oon 15 Ke (hos+ POtk tpal -

raledy  peSoral -(Ast Persen.

Aimp of keanen, ¢ Surs, NS race Foe ron, Sertingy N
Plrsonigiation Ke B fuansngy gue

Aexscal yet of A-gm.tmp

"Coen paspte who et go o haaver, clont asart y cete - ..

(
) draak Megeraoe
erterral [reISPpeuy ‘o GBS
ingireCt

"Mk 0ges best whicn BRICPicst | Youth + blook WV mer
J

ot < e

tnoerialle € dentteloie

|ambic H#itrameser

EJaM rowtle pew is Ljou, bit Someray not 100 (ong from rews,
.
O B e

Stoatpar i
ida conce@r O
,‘-}&F olegat,

2 I
BEO2

Les
bla





Write the two digit question
number inside the boxes next Answer biank
to the first line of your answer

Leave

N "o '\]mav&, Mo Move Mudih 0f Tine w04 on arsiculsive L.
_thmMmWGQWNMM L
_\.bn.nj.,ﬁmm_ ktwmmt}twﬂﬂﬁbmﬂmdhm, -
- Orgh. clOineds deal wdbhgn b Uk oL, %mimﬁmmﬂ%wf‘é-[@
4 Heriae vaen orknropomor Pt 4o WwotTose M Jrow Orva ook |
- 09 tormn Ves xmen On romura; NS Soane. PouRe Brik @@t Aodhasnd
H{ en ro—martons ueit. oo Sagiemy e eMeGney (tauser: S L
..‘i.aamm:: ogmiaqg, PRI, MMW =
- Oasnto PoMocPint Q\u.n..l:..-ﬁ:.a v & ke Movls haeh sy a |
4 gpositive Jnage . VAL 2 faas Herricr, doen @i & represesc L
- Yoy v t::; e glouvder hasiey Connpiasious mxmamma@ L
- He goubtpad s wmis. o Tena. of Fean; © jurkePSTNg L
4 e preders owoh tle Quxry ‘o %@HMM @qnmm_
| LRy . LT G TR IRGAERSE Axesiagn (0 IS i
ﬁmmmwd&&w Poungy, ox & ooraryoai s
| 0lorensc skzMe (nran Kig Corcepx Of deaxin appesss. Asigidar

= P
_ ';ai-f"'"

= h%m%wl‘thm&u.w Ha rerdr INEOTtOL -
ot |'ve Grer encovsrtresh 4D P uwe Mabe Tie loify Orsices 3 L
{dge," S Breve Juos on O BpRECL ax Sorford UMwwhe- 1l
1& Ovive HerdayDldre rejecs €0 ooxn g 0 SYMICOES Onak 2
- OdnbieQsorte MOnnar, Joos dlrelaly ODOreSES @ 20 mﬁ;ﬂm =
ik PRrSONAlyN ARKRUS i, FOis direcx murtm% "
_ﬂKMPItL&mMgﬁrm&h& osvcwrsesh |
1 So canuvatny. dve Herdti, Tows @QRAMAAKS Gt dafRarens -
{ Seven kn empPrenie Sow tle OoTPRUC OF dRok- e L
4 \"plancen Wiy SR e GRIgAR TR S SRere\ U R !
4 V"W ee. orosk Seon' cecioren He Quikwe, ‘6@ bedy boet (et L
4 aser encon~kered ferydn Ske Paor ost Mobe KL loigy (reitRe |
3~ 0550 oA ok IMPGER. Lk O3 On ALKUR Onck. ONPPiNGy PO |-
_%HErﬁﬂkmm&mﬁnﬂ%w preseaic ord (e |
_mnﬂwwmaEMJsmm%_M'ﬁuﬂmm 4

3 0
8603




Sticky Note

Accurate and clear summary to start.



Sticky Note

Accurate and sensitive use of terms from integrated study.



Sticky Note

Sound analysis and clear understanding of meaning shown.



Sticky Note

Productive use of AO3 signposts - 'Unlike', 'Similar to', 'Contrastingly' etc-



Sticky Note

Accurate sense of Jobs' tone here: direct



Sticky Note

Yes, tone correct here.



Sticky Note

Close focus on text here.
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Sticky Note

Correct identification and application of a variety of terms from integrated study.



Sticky Note

Detailed focus on language in this paragraph.



Sticky Note

Accurate and useful identification of Herrick's purpose: warning.



Sticky Note

Clear and cogent links made between texts.



Sticky Note

Fully-developed analysis.
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Sticky Note

A specific and productive connection between the two texts. 



Sticky Note

Sensible use of poetic form here, linking it to the message and meaning of the poem.
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Sticky Note

Relevant contextual information applied.



Sticky Note

AO1 - Thorough knowledge and understanding gained from integrated study with confident, in places, accurate and sensitive use of terminology. Expression was accurate and clear. Lower Band 4.



Sticky Note

This response was awarded a mark of 34 out of 40. It is worth remembering, and this script is a good example of this, that a Band 4 response is not necessarily one that is crammed full of terms from integrated study; it can be that, but it can also be a response which does a lot with a narrower range of terms. This response did have some paragraphs where analysis was broad rather than detailed, but there were others that offered detailed and sensitive analysis of language and 'how'. 



Sticky Note

AO2 - Clear and sustained focus on how language is used to create different impacts in both texts. Perceptive awareness of how choices of form, structure and language affect readers. Comments on poetic form were effective and productive. Mid Band 4.



Sticky Note

AO3 - Some specific and productive connections made between texts - strong on signposting similarities and differences. Confident awareness of the similarities and differences between texts. Some relevant application of contextual material. Mid Band 4.
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Text C

Text C: the poem To Virgins, To Make Much Of Time by Robert Herrick.

Text D: the prepared text of a speech delivered to students at Stanford University, USA,
by Steve Jobs, Chief Executive Officer of Apple Computer and of Pixar Animation
Studios, in 2005.

Compare and contrast Text C and Text D.
In your response you should:
*  show understanding of the meanings in each text;

. explore the influence of different contextual factors;
. use integrated linguistic and literary approaches to analyse the texts.

TO VIRGINS, TO MAKE MUCH OF TIME
Robert Herrick (1591-1674)

Gather ye rosebuds while ye may,
Old Time is still a-flying:

And this same flower that smiles today,
To-morrow will be dying.

The glorious lamp of heaven, the Sun,
The higher he’s a-getting;

The sooner will his race be run,
And nearer he’s to setting.

The age is best, which is the first,
When youth and blood are warmer;
But being spent, the worse, and worst

Times still succeed the former.

Then be not coy, but use your time,
And while ye may, go marry;

For having lost but once your prime,
You may for ever tarry.
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Text D: a prepared speech delivered to students at Stanford University, USA, by Steve Jobs
in 2005

When | was 17, | read a quote that went something like: “If you live each day as if it was your last,
someday you’ll most certainly be right.” It made an impression on me, and since then, for the past
33 years, | have looked in the mirror every morning and asked myself: “If today were the last day of
my life, would | want to do what | am about to do today?” And whenever the answer has been “No”
for too many days in a row, | know | need to change something.

Remembering that I'll be dead soon is the most important tool I've ever encountered to help me
make the big choices in life. Because almost everything — all external expectations, all pride, all fear
of embarrassment or failure — these things just fall away in the face of death, leaving only what is
truly important. Remembering that you are going to die is the best way | know to avoid the trap of
thinking you have something to lose. You are already naked. There is no reason not to follow your
heart.

About a year ago | was diagnosed with cancer. | had a scan at 7:30 in the morning, and it clearly
showed a tumor on my pancreas. | didn’'t even know what a pancreas was. The doctors told me this
was almost certainly a type of cancer that is incurable, and that | should expect to live no longer than
three to six months. My doctor advised me to go home and get my affairs in order, which is doctor’s
code for prepare to die. It means to try to tell your kids everything you thought you'd have the next
10 years to tell them in just a few months. It means to make sure everything is buttoned up so that it
will be as easy as possible for your family. It means to say your goodbyes.

| lived with that diagnosis all day. Later that evening | had a biopsy, where they stuck an endoscope
down my throat, through my stomach and into my intestines, put a needle into my pancreas and got
a few cells from the tumor. | was sedated, but my wife, who was there, told me that when they viewed
the cells under a microscope the doctors started crying because it turned out to be a very rare form
of pancreatic cancer that is curable with surgery. | had the surgery and I'm fine now.

This was the closest I've been to facing death, and | hope it's the closest | get for a few more
decades. Having lived through it, | can now say this to you with a bit more certainty than when death
was a useful but purely intellectual concept:

No one wants to die. Even people who want to go to heaven don’t want to die to get there. And
yet death is the destination we all share. No one has ever escaped it. And that is as it should be,
because Death is very likely the single best invention of Life. It is Life’s change agent. It clears out
the old to make way for the new. Right now the new is you, but someday not too long from now, you
will gradually become the old and be cleared away. Sorry to be so dramatic, but it is quite true.

Your time is limited, so don’t waste it living someone else’s life. Don’t be trapped by dogma — which
is living with the results of other people’s thinking. Don’t let the noise of others’ opinions drown out
your own inner voice. And most important, have the courage to follow your heart and intuition. They
somehow already know what you truly want to become. Everything else is secondary.

© WJEC CBAC Ltd. (1161-01) Turn over.
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SECTION B: Prose
(40 marks)

The ratio of the three AOs for Section B in terms of weighting is:
AO1: 2 AO2: 1 AO3: 2

(16 marks) (8 marks) (16 marks)

Notes

We may expect candidates to select some of the following approaches to the question. It is also
possible that candidates may select entirely different approaches. Candidates are required to
consider the attitudes conveyed by literary and linguistic approaches, not just to note the
features. They are asked for their views: look for intelligent and interesting discussion, but be
tolerant, and credit any valid points that emerge from their analysis of the actual language.

10
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In Cold Blood and True History of the Kelly Gang

Q.7

Overview: In this extract, Capote presents Perry’s siblings, Fern and Jimmy, through the
eyes of his sister Barbara Johnson. Describing the challenges they faced as children,
both in terms of the neglect from their drunk parents and the poverty the family were in,
Capote suggests an inevitability about their future with the noun ‘doom’. We learn that
Fern fell from the window of a hotel after a drinking spree. Jimmy, a controlling and
jealous man, committed suicide after finding his wife dead. Perry’s family are presented
with some sympathy in this extract, fighting against an inevitably troubled future, despite
intrinsic virtue, easygoingness (Fern) and intelligence (Jimmy).

Ironic metaphor ‘bed of roses’ reveals the poor start in life that Perry’s siblings had
Tripling of noun phrases, ‘strong character, high character, hard work’

Declarative mood, ‘They shared a doom...’

Asyndetic list of noun phrases, ‘her shoes, a moneyless purse, an empty whisky
bottle’

o Plosives, ‘passion that was in part pathological’

o Adverbial of time, ‘Some time around dawn of the next day...’

Connections

When considering wider comments on the presentation of sibling relationships in the
core text candidates have a wide range of characters and relationships to consider.
Valuable comments will come from a discussion of the ‘typical’ sibling relationship
shared by the adolescent Nancy and Kenyon, compared to the dysfunctional and
troubled relationship between Perry and Bobo, and his other siblings. A range of points
might be drawn from Barbara’s discussion of her siblings and their poor upbringing,
featured in her letter, as well as the account of Perry visiting her at home. In the partner
text, discussion is likely to centre on Ned’s relationship with his many siblings and the
various bonds that exist between them. Some candidates may consider Ned’s role as
protector to his siblings and the pride he feels at the birth of Grace, for example.

Remember candidates should be considering the writers' techniques in

addressing the presentation aspect of the quotation. Refer to the assessment grid
and reward all valid points.

15
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AS ENGLISH LANGUAGE & LITERATURE

LL1 Sections A and B Assessment Grid

AO1 AO2 AO3
Select and apply relevant concepts and Demonstrate detailed critical Use integrated approaches to explore
approaches from integrated linguistic and understanding in analysing the ways in relationships between texts, analysing
literary study, using appropriate terminology | which structure, form and language and evaluating the significance of
and accurate, coherent written expression. shape meanings in a range of spoken contextual factors in their production
and written texts. and reception.
Band Marks Weighting: 16 marks Weighting: 8 marks Weighting: 16 marks
Limited evidence of integrated study. Minimal Limited awareness of how some of the Describes wider context(s) in which texts
application of concepts and approaches. Written | most obvious choices in form, structure and | are produced. Limited sense of genre,

1 0-10 expression often has lapses in accuracy and vocabulary create basic meaning in texts, purpose and audience. Limited evidence of
clarity. Basic terminology often misunderstood though stronger towards the top of the understanding relationships between texts,
and misapplied, and poor structure to response. | band. particularly towards the bottom of the band.
Some basic evidence of integrated study. Some awareness of some key language Reasonable observations of some key
Beginning to apply key concepts and features. Analysis mainly at word level, contextual factors. Selection and
approaches. Some use of key terminology, but tending to be descriptive towards bottom of | discussion of some of the more obvious
sketchy or descriptive at the bottom of the band. | band. and relevant points of comparison and

2 11-20 Generally accurate expression, but with lapses, | Engages with basic meaning of texts on a contrast. Attempts to use integrated
particularly towards bottom of band. straightforward level, more focused towards | approaches, more successfully towards top
Straightforward vocabulary and sentence top of band. of band.
structure. Attempts to organise response,
particularly towards top of band.

Clear evidence of integrated study, more More sustained focus on language use to Sensible and clear discussion of some key
marked towards top of band. create meaning, including some convincing | similarities and differences between texts.
Sound use of appropriate terminology. phrase and straightforward sentence level Developing and increasingly convincing

3 21-30 Relevant and purposeful application of some analysis. Clear grasp of meaning, with overview.
relevant key concepts and approaches. increasingly detailed appreciation of Clear evidence of integrated approaches,
Generally accurate, coherent expression, and writers'/speakers' techniques. Developing with appropriate textual support, most
sensibly organised. eye for detail, most apparent at top of band. | appropriate towards top of band.
Thorough knowledge, understanding and Perceptive awareness of how choices of Confident awareness and discussion of
insights gained from integrated study. Confident | form, structure and language affect relationships between texts, making
application of concepts and approaches. readers. Sound analysis and increasingly specific and productive connections.

4 31-40 Accurate and sensitive use of terminology. confident evaluation of writers'/speakers’ Sound, increasingly confident appreciation
Written expression confident and fluent. Well- techniques. Clear and sustained focus on of contextual factors and their significance.
organised material. HOW language is used to create different

impacts.
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Sticky Note

This is a rather abrupt start to the Section B response; the candidate chooses to write just one sentence as a summary and then move straight into close textual analysis, which is fine.



Sticky Note

Accurate use of terms: uses several terms where possible but does not simply 'spot and list' them, but instead engages with their effect.



Sticky Note

Productive analysis



Sticky Note

Incorrect term - 'her' here is a determiner. This is a common error in LL1.



Sticky Note

Useful label
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Sticky Note

Secure understanding of set text



Sticky Note

Correctly identifies Barbara's tone here- many candidates struggled with her use of the metaphor 'bed of roses' and misunderstood what it meant.



Sticky Note

A useful contextual point, meeting AO3.



Sticky Note

Correctly identified



Sticky Note

Clear and confident understanding of Capote's meaning here.



Sticky Note

Internal links demonstrate secure understanding of set text



Sticky Note

Detailed and developed analysis - this candidate is looking beyond the surface of Capote's words.
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Sticky Note

Sustains its productive analysis



Sticky Note

Broadens out to the wider theme of 'sibling relationships'. It would be productive for candidates to include here, in this transistion between close textual extract analysis and wider discussion of theme, a 'glossy' literary paragraph outlining some of the ways in which the particular theme is explored in both core and partner texts.



Sticky Note

Written expression is fluent and mature.



Sticky Note

Makes productive links between texts.



Sticky Note

Range of terms from integrated study
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Sticky Note

Useful topic sentences to act as signposts throughout the essay



Sticky Note

It is worth remembering that there are a number of ways that candidates can structure their Section B wider theme responses. Many choose to select an extract from each text (core and partner) and to make comparisons this way. Some choose to use a wider range of references from the texts and to compare more often. Each approach is acceptable.





Write the two digit question
number inside the boxes next Answer
to the first line of your answer
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Sticky Note

AO1 - Accurate and sensitive use of a wide range of terminology from integrated study. Written expression was confident and fluent. Response was well-organised. Upper Band 4.



Sticky Note

AO2 - Clear and sustained focus on HOW language is used by Capote and Carey to create different impacts. Confident evaluation of techniques and tone. Upper Band 4.



Sticky Note

AO3 - Confident discussion of several links between the two texts, with specific and productive connections offered. Sensible discussion of some key contextual factors but might have done more with context here, given the amount of class time spent on these prepared texts. Mid Band 4.



Sticky Note

This response was awarded a 38 out of 40, reflecting the banding for each assessment objective. It is very fluent, detailed and sensitive in its use of terminology in both the extract and the wider texts and it makes clear and cogent links on the theme of sibling relationships. Very thin on external context in either text.










[0][7]

Capote: In Cold Blood (Core text)
Carey: True History of the Kelly Gang (Partner text)

Read the extract from In Cold Blood that begins on page 179 from ‘As though for his brother
and sisters ...’ to “... he reloaded the gun and killed himself’

Use integrated linguistic and literary approaches to examine how Capote presents Perry’s
family in this extract. Go on to compare the presentation of sibling relationships elsewhere
in In Cold Blood and in True History of the Kelly Gang.
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SECTION B: Prose
(40 marks)

The ratio of the three AOs for Section B in terms of weighting is:
AO1: 2 AO2: 1 AO3: 2

(16 marks) (8 marks) (16 marks)

Notes

We may expect candidates to select some of the following approaches to the question. It is also
possible that candidates may select entirely different approaches. Candidates are required to
consider the attitudes conveyed by literary and linguistic approaches, not just to note the
features. They are asked for their views: look for intelligent and interesting discussion, but be
tolerant, and credit any valid points that emerge from their analysis of the actual language.

10
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Q.10

Overview: In this extract, taken from the chapter entitled ‘Rio De Journal’, Minhinnick
describes his experiences as a traveller when he and ‘M’ journey to Maringa on a
cramped and crowded bus, only to find themselves stranded there in the dark with no
accommodation and a storm overhead. The couple’s alienation is accentuated by the
strangeness of the landscape which they find themselves in, with its overwhelming
sights and sounds; even the trees are hostile as M pricks her hand on a thorn. Paths
‘twist’ away from them and the darkness soon descends. Minhinnick notes with a wry
humour that the travel books he has read in preparation for their trip, ‘South America on
a Shoestring’, are now meaningless and the reality of being stuck in this place with no
plans is much more frightening. The extract ends ominously as they ‘walk into the dark.’

o Noun ‘mélée’ describes chaos of bus with its passengers

e First person plural narrative perspective ‘we’

e Proper nouns used in travelogue, ‘Anghulas Negras’, ‘Rio de Janeiro State’ and
‘Brazil’

o Premodified noun phrase as a metaphor, ‘an immense green blanket’

o Hostility of the landscape reflected in the minor declarative ‘Shut tight’ and the
sibilant and plosive alliteration, ‘sprouts with spines’

¢ Simile reinforces sense of danger, ‘as monotonous as a chainsaw’
Rhetorical interrogatives with taboo language, ‘Where the fuck are we?’ and ‘Whose
bloody shoestring is it anyway?’

Connections

Wider comments on the presentation of challenging situations may focus on a number of
incidents in both texts that Minhinnick and Bryson experience during their time as
tourists and whilst travelling. Both authors find themselves in challenging situations due
to cultural differences, be that in terms of language or cultural behaviours. Both
Minhinnick and Bryson approach their own challenging situations with self-deprecating
humour, aware of the often fraught position of the tourist in a foreign land. Candidates
may choose to interpret the idea of challenging situations by looking at the challenging
lives of those who Bryson and Minhinnick meet, such as the poverty that Minhinnick
encounters in Brazil, or the residents of the council estate in ‘“Taking It’.

Remember candidates should be considering the writers' techniques in

addressing the presentation aspect of the quotation. Refer to the assessment grid
and reward all valid points.

18
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AS ENGLISH LANGUAGE & LITERATURE

LL1 Sections A and B Assessment Grid

AO1 AO2 AO3
Select and apply relevant concepts and Demonstrate detailed critical Use integrated approaches to explore
approaches from integrated linguistic and understanding in analysing the ways in relationships between texts, analysing
literary study, using appropriate terminology | which structure, form and language and evaluating the significance of
and accurate, coherent written expression. shape meanings in a range of spoken contextual factors in their production
and written texts. and reception.
Band Marks Weighting: 16 marks Weighting: 8 marks Weighting: 16 marks
Limited evidence of integrated study. Minimal Limited awareness of how some of the Describes wider context(s) in which texts
application of concepts and approaches. Written | most obvious choices in form, structure and | are produced. Limited sense of genre,

1 0-10 expression often has lapses in accuracy and vocabulary create basic meaning in texts, purpose and audience. Limited evidence of
clarity. Basic terminology often misunderstood though stronger towards the top of the understanding relationships between texts,
and misapplied, and poor structure to response. | band. particularly towards the bottom of the band.
Some basic evidence of integrated study. Some awareness of some key language Reasonable observations of some key
Beginning to apply key concepts and features. Analysis mainly at word level, contextual factors. Selection and
approaches. Some use of key terminology, but tending to be descriptive towards bottom of | discussion of some of the more obvious
sketchy or descriptive at the bottom of the band. | band. and relevant points of comparison and

2 11-20 Generally accurate expression, but with lapses, | Engages with basic meaning of texts on a contrast. Attempts to use integrated
particularly towards bottom of band. straightforward level, more focused towards | approaches, more successfully towards top
Straightforward vocabulary and sentence top of band. of band.
structure. Attempts to organise response,
particularly towards top of band.

Clear evidence of integrated study, more More sustained focus on language use to Sensible and clear discussion of some key
marked towards top of band. create meaning, including some convincing | similarities and differences between texts.
Sound use of appropriate terminology. phrase and straightforward sentence level Developing and increasingly convincing

3 21-30 Relevant and purposeful application of some analysis. Clear grasp of meaning, with overview.
relevant key concepts and approaches. increasingly detailed appreciation of Clear evidence of integrated approaches,
Generally accurate, coherent expression, and writers'/speakers' techniques. Developing with appropriate textual support, most
sensibly organised. eye for detail, most apparent at top of band. | appropriate towards top of band.
Thorough knowledge, understanding and Perceptive awareness of how choices of Confident awareness and discussion of
insights gained from integrated study. Confident | form, structure and language affect relationships between texts, making
application of concepts and approaches. readers. Sound analysis and increasingly specific and productive connections.

4 31-40 Accurate and sensitive use of terminology. confident evaluation of writers'/speakers’ Sound, increasingly confident appreciation
Written expression confident and fluent. Well- techniques. Clear and sustained focus on of contextual factors and their significance.
organised material. HOW language is used to create different

impacts.
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Sticky Note

Generally clear and sound understanding



Sticky Note

Somewhat tentative here in expression



Sticky Note

Accurate identification of terms



Sticky Note

Some slight generalisation / simplification here



Sticky Note

Accurate term



Sticky Note

This candidate is clearly aware of the requirement to use terms from integrated study, and is using a wider range than some others did. The terms used tend to be on word and sometimes, less successfully, at sentence level, and there is a struggle to do anything meaningful with them beyond just basic understanding of meaning.



Sticky Note

Terms: imagery



Sticky Note

Tentative grasp of meaning here.
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Sticky Note

Basic understanding of meaning



Sticky Note

Sound analysis here - straightforward and sensible



Sticky Note

Comments on sentence length should be avoided by candidates unless there is something very pertinent to say about them (in this case there isn't). Better to comment on sentence type, syntax features or mood where possible.



Sticky Note

Misidentification of terms
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Sticky Note

Straightforward comments reveal basic understanding of meaning. 



Sticky Note

Some wider links to partner text.



Sticky Note

Struggles to meaningfully connect with 'challenging situations' in the partner text. Limited connections between texts which does have an impact on AO3.



Sticky Note

AO1 - This is the strongest of the three assessment objectives for this candidate. Does use some range of terms from integrated study - not always accurate or sensitively applied though, unfortunately. Written expression is generally clear and coherent. Lower Band 3.



Sticky Note

AO2 - Engages with basic meaning of texts on a straightforward level - struggles to move meaningfully into close consideration of HOW. Upper Band 2.



Sticky Note

AO3 - Selects some of the more obvious and relevant points of comparison and contrast with some selection of material from Bill Bryson. Some sense of attempting to deal with 'challenging situations' in the Bryson, though could've done more with this. Just into Lower Band 3.



Sticky Note

This response was awarded 22, taking it just into Lower Band 3. It had difficulties with analysis and with making productive links, but candidate did offer a reasonably close reading of the extract in the core text.










[1][0]

Read the extract from Watching the Fire-Eater that begins on page 13 from ‘There is one
bus per day to Maringa ...’ to ‘... We walk into the dark.’

Using integrated linguistic and literary approaches, discuss how Minhinnick presents his

experience as a traveller in this extract. Go on to compare the presentation of challenging
situations elsewhere in Watching the Fire-Eater and in The Lost Continent.

© WJEC CBAC Ltd. (1161-01) Turn over.











